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GROUP-B
ACCOUNTS & LAW
Paper : I1I
(Corporate Accounting)

| Maximum Marks : 100

Note : Antempt all questions. Each question
carries equal marks.

1. The share capital of a company consists
of :
(A) Equity shares
(B) Preference shares
(C) Deferred shares
(D) Both (A) and (B)
2. Share Application Account is :
(A) Personal Account
(B) Real Account
(C) Nominal Account
(D) None of these

3. Sharcholders get :
(A) Dividend
(B) Interest
(C) Commission
(D) Brokerage

4. The part of share capital which can be
called up only on the winding up of a
company is called :

(A) Authorized Capital
(B) Called up Capital
(C) Capital Reserve

(D) Reserve Sharc Capilal

594/A
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S. Sharc Application Account is ............ at
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the time, of issuc of shares for reccipt of
moncy :

{A) Dcbited

(B) Credited

(C) Both (A) and (B)

(D) Not clcar

Shares can not be issued :
(A) Atpar

(B) At premium

(C) Atdiscount

(D) All of the above

When shares are issued to the promoters
in consideration of their services which
account will be debited ?

(A) Promotion A/c
(B) Share Capital A/c
(C) Goodwill A/c
(D) Asset Alc

If vendors are issued fully paid shares of
? 50,000 in consideration of net assets of
? 60,000, balance T 10,000 will be
credited 1o :

(A) Goodwill A/c
(B) Capital Reserve A/c
(C) Vendor's A/c

(D) Stalcml:nt-

Shares can be forfeited :

(A) For non-payment of call moncy
(B) For failure o atiend annual gencral

mecling
(C) Both (A) and (B)
(D) None of the above

7. Mg HFAF B FAN

-
..........

(B) &f¥e
(€) (A)d (B) 3T
(D) =<

6. iyt Prifye w8 Ry o @ ¥
(A) 999 9T
(B) Shftram oX
(C) HH T
(D) ITVwRT W
YAt B
qfreer # ofwr Prita 5 o ¥
@ fra s & 3T Brar s ?
(A) sads e
@B) S N @mn
(C) oy =men
(D) &gy @rar

9. s T arEaEm ¥

(A) aftr ofr & 7 e @1

(B) ot wMaRer awr ¥ Wi A
9T

(C) (A) & (B) g+t
(D) ¥4 | o Tl
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A company forfcited 2000 shares of T 10
cach for non payment of allotment money
of T 4 per sharc. The called up value per
sharec was ¥ 9. On being forfeited the
amount debited to share capital is :

(A) ¥ 10,000
(B) ¥ 8,000
(C) 2,000
(D) T 18,000

. Preference shares cannot be redeemed

unless they are :

(A) Partly paid

(B) Fully paid

(C) Issued at premium
(D) None of the above

Which method is legally accepted for
redemption of preference shares ?

(A) Divisible profits

(B) Out of proceeds of fresh issue of
shares for the purpose of redemption

(C) (A) and (B) both

(D) None of the above
Preference shares holders are :
(A) Creditors of the Company
(B) Owners of the Company
(C) Customers of the Company
(D) Employees of the Company

584/A

10.

1.

12.

13

TH F X 210 9Ry aiwr oy 2T
2000 M1 B ormy T Rr FGIEE
ST W T 4 W e i ah &
oY e = o g T o
S H Ty A Ty Adw SN A
Reerft ofdr 3 2 omh 2

(A) 210,000
(B) T 8,000
(C) 2,000
«D) ¥ 18,000
@it M w oM TEH B

HaT 2, W A% A
4

(A) HIfITH F

B) Lfea

(C) s=r1 9T frifyer

(D) I 7 FE &l

iR sint & v 3 DA
Ry = wpa ¥ ?

(A) farvrq amsim

(B) ¥q A oigit N wfa R |
Rrawr Frbes few @ aRwW
| ura Rear Tar w

(©) (A) Trar (B) Bt
(D) &1 A = ff
qatftes sigard 8 R .
(A) T F IFER
(B) &I & @i
(C) &I B e
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4. ¥ 5.00,000 preference shares are to be
redeemed by issuc of 2,000 cquity sharcs
of T 100 for T 125 cach, then capital
redemption rescrve account s lo be
credited by what amount ?

(A) T 3.00,000 (B) ¥2,50,000
(C) T2,00,000 (D)  5,00,000

15. Silver and gold coins and statue for
worship constitute of the
company,

(A) Other Current Assets

(B) Current Investment

(C) Cash and cash equivalents
(D) Tangible Asset

16. Dividend are usually paid on :
(A) Authorised Capital

(B) Issued Capital

(C) Paid up Capital

(D) Reserve Capital

17. Mortgage Loan is shown in :
(A) Liability side of Balance Sheet
(B) Assets side of Balance Sheet
(C) Suatement of Profit and Loss
(D) All of the above

18. In total amount of liabilities includes :

(A) Subscribed Capital

(B) Issued Capital

(C) Paid up Capital

(D) Amount of application money

19. Which of the following is mof a non-
current liability ?

(A) Debentures

(B) Long term Loan

(C) Bank Overdraft

(D) Deferred Payment Liability

~ 594IN

(4)

14.

15.
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19.
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Y 100 a1 2,000 THAT 379 T 125 ufy
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f¥e fgr o 7
(A) 73,00,000 (B) T2,50,000
(C) ¥2,00,000 (D) 2 5,00,000
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off wet @ B X

(A) 379 9y TafwT
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Final accounts of a company arc prepared
accordingto ............ of Companies Act,
2013 :

(A) Schedule 111
(B) Schedule IV
(C) Schedule V

(D) Schedule VI

Loss on issue of shares is shown under
which head in the balance sheet ?

(A) Current Asscls

(B) Miscellancous Expenditure
(C) Reserve and Surplus

(D) Current Liabilitics

Debenture holders are the :

(A) Customers of the Company
(B) Creditors of the Company
(C) Employees of the Company
(D) Owners of the Company

. Loss on issue of debenture a/c is :

(A) A liability
(B) An asset
(C) An expenses
(D) Gain

Discount on issue of debentures is :
(A) Current Assets

(B) Current Liabilitics

(C) Fixed Asset

(D) Fictitious Assets

Afier redemption of debentures the
balance of [Dcbenture Sinking Fund
account is transferred to :

(A) Profit & Loss Alc

(B) General Rescrve A/c

(C) Capital Reserve A/c

(D) Debenture Investment A/c

G94/A

24.
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Considcration of debentures is :
(A) Dividend

(B) Interest

(C) Profit

(D) None of the above

In casc of issuc of dcbentures as a collateral
sccunty for loan from financial institutions,

which account will be debited ?

(A) Loan Account

(B) Debenture Suspense Account
(C) Bank Account

(D) Debenture Account

If own debentures of ¥ 1,000 purchases
for T 980 by the company, the difference

of T 20 will be assumed :

(A) Profit on redemption of debenture
(B) Loss on redemption of debenture
(C) Goodwill

(D) None of the above

The valuation of goodwill is essential :

(A) At the time of issue of shares
(B) At the time of salc of company
(C) At the time of forfeiture of shares

(D) None of these
Goodwill isa -

(A) Current Assct
(B) Intangible Asset

(C) Tangible Assel
(D) None of the above

(6)
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Dog goodwill is ;

(A) Valuable

(B) Less Valuabic
(C) More Valuable
(D) None of the above

The formula of calculating normal profit
is :

(A) Average Profit x Normal Rate of Retum

100
(B) Resl Average Profit = Normal Raic of Retum

100

(C) Average Capital Employed » Normal Rake of Retum

100
(D) None of the above

If the average capital of business is
¥ 60,000 and the nommal profit is 15%
then the normal profits will amount to :

(A) 10,000

(B) ¥9,000

(C) T 15,000

(D) 26,000

The profit of last four years of Raj and
Shilpi are ¥ 12,000 , T 18,000, T 20,000
and T 10,000. The value of goodwill

based on three years purchase of average
profit of last four years will be :

(A) 60,000
(B) ¥50,000
(C) 45,000

(D) 40,000

N FJw ey ko

(A) Faa=

(B) &9 ¥

(C) ot geaam

(D) 9w & & i 8

32. MG WY @ MO H GA &

(A) shgn ww x s A AR T

100
(B) ararfrss ohemt W9 x SWrq # WETR &T

100
(C) Sthwnr RPRRRY 3 x s & A &

100
(D) 39T 7 |4 T8t

B IR & FJFEE N Mwa Gh
? 60,000 B a1 A #A " X

15% 8, amr=q @y ¥
(A) ¥ 10,000

(B) 9,00

(C) T 15,000

(D) 6,000

. T M AP & Red g a9t

& AT T 12,000, T 18,000, T 20,000
aar T 10,000 8| RBX T agt @
AMua e P SR X A T
F9 9T BT FH qEq W

(A) T 60,000
(B) ¥ 50,000
(C) 45,000

(D) T 40,000
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35. Avcrage profit is ¥ 19,167 and normal
profitis T 10,000. The super profit is :

WO dulfuoneIqp mmm//:sdpy

(A) 9,167
(B) 29,167
(C) T 19,167

(D) 2 10,000

. Intrinsic value of share can be determined

by :

(A) Fair Value Method
(B) Net Assets Mcthod
(C) Yield Method

(D) Stock Exchange quotation

. The valuation value of shares in

comparison to face value of shares is :
(A) More

(B) Less

(C) Equal

(D) Less and more

. The value of per share on division of

amount of net asscts by number of share
will be :

(A) Market Price
(B) Purchase Price
(C) Book Value

(D) Intrinsic Value

B

{A) 19,167
(B) 229,167
(C) 219,167
(D) T 10,000

. aigit B oraR® g @ Fraftr &

qHA &

(A) SR g vy Zra
(B) = w=fv fafyr zmn

(©) g RAfy zr

(D) &y fafr & BT ara

. M W ywmitea ge i @

SRR T R gET A B ¥ -
(A) sftp
(B) 31
(©) =

(D) &9 N atfyg

- O wOfeat B osiet @Y weqr &

mmmnﬁrwﬂq\m
TR Brewr B

(A) TR gy @
(B) 9 y=g &

(©) JEHT g 3
) IT=IRF g 3
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39. Which of the following is included in » e % 4 P T RS
Intrinsic Value Method ? geq qafy X afsfer ¥ ?
(A) Preliminary Expenses (A) WP =g
(B) Goodwill and Patent (B) Tafy wd ﬁ%ﬁq
(C) Discount on Debentures (C) FOTast 9T HAA
(D) All of the above (D) IugFRT W
®. Deductible liability for getting assets is : € g wRE ma AR g aeR
AN e Tt ¥
(A) General Reserve (A) 9T H@EYg
(B) Loan (B) SoT
(C) Preference Capital (C) qaiftrs iah
(D) Equity Capital (D) S== iiqh
41.  The methods of valuation of shares are : 41. A9t F FeginT A Afet ¥ -
(A) 3 (B) 4 (A) 3 ®) 4
© 5 () 6 ©s @) 6
42. A company has declared a dividend 20% - X :

TF FEA YT T 100 AR, T 90 gesaw
TR AN 9 20% ety S
HE ¥ R s =X 15% B
TOE W Stw & e A v

on its equity shares of ¥ 100 each, T 90
paid up. Normal rate of return is 15%,
compute the value of each equity share :

WO dulfuoneIqp mmm//:sdpy

T :
(A) 100 (B) 140 (A) 100 (B) 140
(C) 120 (D) 160 (C) 120 (D) 160
43. As per AS-14 purchase consideration . AWHT W4 B AR w9
includes those payments which are S & g B ¥, A P
payable to any one of the following :

AN E DAY
(A) AT a1 ForgRYrd
(B) SOTT=RT ey AT
(C) Stmard ey Ay

(D) et

(A) Sharcholders and Debenture holders
(B) Debenture holders and Creditors
(C) Sharcholders and Creditors

(D) Shareholders

_;"‘) 5'4{] (9) P.To.
SN T
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44, llow many mcthods of calculating
purchasc consideration are there ?
(A) 2
(B) 3
(C) 4
(D)5
45. The main object of amalgamation is :
(A) To bring a company in expenses
(B) To facilitate distribution
(C) To eliminate competition
(D) All of the above
46. Two companies, A Ltd. and B Ltd. go
into liquidation to form a new Company
C Lud. Itis a case of :
(A) External Reconstruction
(B) Amalgamation
(C) Internal Reconstruction
(D) None of these
47. When the expenses of liquidation are
bome by the purchasing company, the
purchasing company debits 7
(A) Realisation A/c
(B) Vendor's Company A/c
(C) Bank A/c
(D) Goodwill A/c
594/A

“. mmaﬁrmmﬁaﬂmﬁ

47.

Rt 8 ?

(A) 2

(B) 3

(C) 4¢

D) 5

TR 1 ged IR 8
(A) =Gt & Pyaaffer arer
(B) Ryarer & gasen @

(C) wireef &1 AT FHEN

(D) Sug=r |t
s T I o Mo @ Fmfor

3, Yo Mo @@ o ™o =
g #r 8, a8 Rafa ¥ -

(A) Trw gAffafor
(B) Tt
(C) s=RE gAfinfer

(D) Iudwr A | d Tht

T TEN I[E P AR A aw

:mh%ﬂw#i'nmiﬁzm

(A) ageh @mn
(B) Rider &va+h oy wyren
(©) ¥ =

(D) sofy wren
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Accounting  Standard relating

accounting of amalgamation s :
(A) AS-2

(B) AS-10

(C) AS-13

(D) AS-14

o

When one company goes into liquidation
and a new company is formed to take over
the business of the company which goes
into liquidation, this is called :

(A) Amalgamation

(B) Absorption

(C) External Reconstruction

(D) Intermal Reconstruction

According to AS-14 Amalgamation is of

(A) 3
(B) 2
(1
(D) 4

. Capital Reduction A/c is related to :

(A) Internal Reconstruction
(B) External Reconstruction
(C) Both (A) and (B)

(D) Not Clear

If the net assets taken over by the
company are less than the purchase
consideration, difference will be treated as :

(A) Secret Reserve
(B) Goodwill
(C) Capital Reserve

(D) General Reserve

SU/A

(11)

49,

51.

(B) Ay gAt+wior
(C) (A) Nz (B) =Y
(D) 1=

P.T.0.
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53. Accounting Standard-14 is applicable in

&

respect of accounting period commencing
on or afier 1st April :

(A) 1995
(C) 1996

(B) 1994
(D) 1997

In casc of amalgamation in the nature of

merger the purchase consideration will be
equal to :

(A) The capital of transferor company

(B) Net Assets of transferor company

(C) Total Assets
(D) Reserve

Pooling of interests method is used 1o
account for amalgamation in the nature
of : https://www.dbrauonline.com

(A) Purchase

(B) Sales

(C) Merger

(D) None of the above

For transferring assets to realisation Alc
............ is debited.

(A) Purchasing A/c
(B) Liabilities A/c

(C) Preference Share Capital A/c

(D) Realisation A/c

594/A

(12)

HgqT D dqTE
B gl dwiea oy &
# dQipT 999-14 AT BT

i rea
Taq
3

(A) 1995 (B) 1994

(C) 1996 (D) 1997

Reg & &g & g 3 &9
sfree @ Tfr 2rf

---------

(B) TRy wren
(C) Yaiftas ater @
(D) agsh ey
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cbate on Bills discounted for n Banking
lagef) e aterenet

s7. R

Company Is !
(A) An Expensc (A) 114 1N
(B) An Income (1y) 1een siiet
(C) An Asset () 1 e
(1) um afnum

(D) A Liability
5. Tz W= sfufamd 4 lgam Py

sa. Overdraft facility is given by the bank
only to such customers who alrcady g msEl @ R 2 ras,
have : TR | |

(A) T %5

(B) T/l 1T @R

(A) Saving Bank A/c
(B) Fixed Deposit Afc

(C) Recurring A/c (C) ot I T wren
(D) Current A/c (D) =g @
59. In the new formats on final accounts of a 0. ¥F & ofaw @l @ R =T
‘bank, Balance Sheet consists the schedule greqt 7 g @ 2wt
Nos : gt & ¥ ¢
(A) 1-6 (A) 1-6
(B) 1-12 (B) 1-12
(C) 5-10 (C) 5-10
(D) 13-16 (D) 13-16
60. In which year 14 Banks were 6. 14 ¥ T THAER™ w 3¢t 2
nationalised ? frgqr T ?
(A) 1969 (A) 1969
(B) 1971 () 197N
(C) 1973 . () 19
(D) 1977 (1N 1977

(13)
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Full form of N.P.A. is:
(A) Non Pcrforming Asscts

(B) Normal Per forming Asscls

(C) National Assets

(D) None of these
Full form of C.R.R. is :

(A) Current Reserve Ratio

(B) Capital Reserve Ratio

(C) Cash Rescrve Ratio

(D) Capital Redemption Ratio

83. Schedule 13, 14, 15 and 16 are shown in

............ of a bank.

(A) Reserve & Surplus
(B) Profit & Loss Account
(C) Contingent Liabilities
(D) Statutory Reserve

Recently which bank/banks arc merged in
Punjab National Bank.

(A) Oriental Bank of Commerce
(B) United Bank of India
(C) Both (A) and (B)

(D) None of these

N.P.A & g a7 B :

(A) A9 queftdr .
! (\ngrgfaﬁqwﬁm)

(B) #Ahder qrafitn caga |
(C) Ao qAZA
(D) &1 A 3§ vt
CRRHF QU A & :
(A) oz ot W
(urg, wea Frar)
(B) e Rord WD
(Ioh s srgam)
(C) Fwr ok WM

(F@= dea FunT)
(D) Bz V== N

G o= st=qamnr)
TN 13, 14, IS @ 16 A A
............ ¥ Rend ot 2

(A) WO o snfaag
(B) srs-&fy e
(C) | e
(D) Aufys w9y

S ® F MR ¥ gong
%smhﬁfamh;&rﬁtt?

(A) SMdeer Az ol @t
(B) TIE A% ot gfeway
(©) (AT (B) Bt
(D) & A ¢ Ty
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65. Commission on Re-insurance ceded is :
(A) An cxpense
(B) An Income
(C) An Assel
(D) A Liability
6. No claim bonus is related to :
(A) Life Insurance Company Accounts
(B) General Insurance Company Accounts
(C) Electricity Company Accounts
(D) Banking Company Accounts
The amount paid to the insured by the

9

insuring company in the event of
accidents described in the contract of
insurance is known as :

(A) Premium
(B) Claim
(C) Annuity
(D) Policy

General Insurance includes :

8

(A) Fire Insurance
(B) Marine Insurance
(C) Miscellaneous Insurance
(D) All of the above
69. Re-insurance is generally found in :
(A) General Insurance
(B) Life Insurance

(C) General Insurance and Life Insurance
both

(D) None of these
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70.  The balancing figure of Revenue Account 70. ﬁ’i gy & sfm WP
is transferred to Prefaferr & swiafa Rear s ¥ .
(A) Trading A/c (A) =it @
(B) Profit & Loss Account (B) sm9-B1Y @mRw
(C) Balance Sheet (C) =¥ forger
(D) None of the above (D) =& ¥ Fd 76
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